7Y — Padayl s’
BT R (ARSI [E2m 3 H1) H23/12/21
| FETE%)  FETREFIZA)  FEFIZRA)
BOEMEHEY =E3 10.3 18 175
thDEkE - 2B ACARR 25.0 1 4
IrEEMRERICARE 33.3 2 6
1t SEAU R IC AR 0.0 0 1
Z0ith N/A 0 0
B 11.3 21 186
HEOEMHEM =E3 4.2 8 192
thDEkE - 2B ARCARR 33.3 [ 3
IrEEMRERICARE 16.7 1 6
1t SEAU R IC AR N/A 0 0
Z0ith N/A 0 0
B 5.0 10 201
EBEOEEEHEY =E3 2.2 2 93
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 2.2 2 93
SEXPSIUMOENEHEY |BE 8.5 25 295
thDEkE - 2B ACARR 60.0 3 5
IrEERERICARE N/A 0 0
1t SEA R IC AR 50.0 1 2
Z0ith 100.0 1 1
B 9.9 30 303
SMLmHIEE =E3 6.3 5 80
thDEkE - 2B ACARR 16.7 1 6
NEEMEICARR 100.0 1 1
1t SEA R IC AR N/A 0 0
Z0ith 0.0 0 1
21k 8.0 7 88
fiti ¢ =E3 2.6 20 777
thDEkE - 2B ACARR 11.1 [ 9
IrEERERICARE 25.0 16 64
1t SEA MR IC AR 14.3 2 14
F0ith 14.3 1 7
B 4.6 40 871
I B =E3 0.0 0 135
thDEkE - 2B A CARR 0.0 0 2
IrEERERICARE 0.0 0 2
1t SEA R IC AR N/A 0 0
Z0ith 0.0 0 1
B 0.0 0 140
[REEES =E3 6.7 19 285
thDEkE - 2B ACARR 15.4 2 13
IrEERERICARE 25.9 7 27
1t SEA MR IC AR 33.3 [ 3
Z0ith 0.0 0 6
B 8.7 29 334
i HH HE 19.0 16 84
thDEkE - 2B ACARR 0.0 0 18
IrEERERICARE 12.5 1 8
1t SEA R IC AR N/A 0 0
F0ith 50.0 2 4
B 16.7 19 114
FEPRIA =E3 0.6 1 160
thDEkE - 2B ArCARR 0.0 0 3
IrEERERICARE 0.0 0 2
1t SEAU MR IC AR N/A 0 0
Z0ith N/A 0 0
B 0.6 1 165
KIEEEEHER =E3 3.8 3 78
thDEkE - 2B ArCARR 0.0 0 8
IrEERERICARE 0.0 0 15
1t SR IC AR 0.0 0 1
Z0ith 0.0 0 1
B 2.9 3 103
BiEE =E3 0.0 0 55
thDEkE - 2B ARCARR 0.0 0 3
IrEERERICARE 0.0 0 3
1t SEA R IC AR N/A 0 0
Z0ith 0.0 0 1
B 0.0 0 62




7Y — Padayl s’
BT R (ARSI [E2m 3 H1) H23/12/21
| FETE%)  FETREFIZA)  FEFIZRA)
SR & =E3 0.4 1 245
thDEkE - 2B ACARR 0.0 0 [
IrEEMRERICARE 0.0 0 6
1t SEAU R IC AR 0.0 0 3
Z0ith N/A 0 0
2% 0.4 1 255
SRER =E3 0.0 0 155
thDEkE - 2B ARCARR 0.0 0 [
IrEEMRERICARE N/A 0 0
1t SEAU R IC AR N/A 0 0
Z0ith 0.0 0 2
B 0.0 0 158
RE R iE =E3 0.4 1 246
thDEkE - 2B ACARR 0.0 0 3
IrEERERICARE 10.0 1 10
1t SEA R IC AR N/A 0 0
Z0ith 0.0 0 1
B 0.8 2 260
BT 3L AR AR KA =E3 0.0 0 44
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 44
BNE =E3 0.0 0 207
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE 0.0 0 6
1t SEA R IC AR 0.0 0 2
Z0ith N/A 0 0
B 0.0 0 215
F¥ =E3 0.0 0 26
thDEkE - 2B ACARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA MR IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 26
FEMmiE =E3 0.0 0 106
thDEkE - 2B A CARR N/A 0 0
IrEERERICARE N/A 0 0
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 106
HIViE =E3 0.0 0 348
thDEkE - 2B ACARR 0.0 0 6
IrEERERICARE 0.0 0 1
1t SEA MR IC AR N/A 0 0
Z0ith 0.0 0 1
B 0.0 0 356
BHERARURERER =E3 0.0 0 192
thDEkE - 2B ACARR 0.0 0 [
IrEERERICARE 0.0 0 2
1t SEA R IC AR N/A 0 0
Z0ith 0.0 0 1
B 0.0 0 196
AEDEMHEM =E3 1.2 1 83
thDEkE - 2B ArCARR 50.0 1 2
NEEMEICARR 100.0 1 1
1t SEAU MR IC AR N/A 0 0
Z0ith 0.0 0 1
B 3.4 3 87
FRBE & AE =E3 0.0 0 11
thDEkE - 2B ArCARR N/A 0 0
IrEERERICARE N/A 0 0
1t SR IC AR N/A 0 0
Z0ith N/A 0 0
B 0.0 0 11
BREAILZT =E3 0.0 0 203
thDEkE - 2B ARCARR N/A 0 0
IrEERERICARE 0.0 0 1
1t SEA R IC AR N/A 0 0
Z0ith N/A 0 0
L) 0.0 0 204




